INTERMEDIATE EXAMINATION — 2023 (ANNUAL)

Sub. Code - 325

Time :- 3 Hours 15 minutes Sociology (Elective) Full Mark - 100
T 2 3 15 e o (¥few) oI — 100

Total No. of questions — 100 + 30 + 8 =138
Hl T DI F=T — 100 + 30 + 8 = 138
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Instructions for the candidates :-

1.

el OMR STR—UF® WR IAUAT U YRAdT HHib (10 bl )
araey fored |

Candidate must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTeff ALY 37U TRl H B IR G |

Candidates are required to give answers in their own words as far

as practicable.

SN IR BRRA R &Y gY sfd Yuiie ffde &vd 2 |
Figures in the right hand margin indicate full marks.

gedl I SMYdd Ugd B forg wienfal &1 15 fee &1 ifdRed w93

feam T 2

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g UTT—gRael a1 Wosl § 8 — WUe—3 U4 EUsS—4 |



This question booklet is divided into two sections - Section-A and
Section-B.

Gus—3 H 100 IS U ©, oH A b=l 50 UeAl &1 IR <Al
e 21 50 Ul W 3AfH BN IR T W UAH 50 B B HATDA
BT Udd & fay 1 o iR €1 a1 SR <4 & fory Sucre
PRI MY OMR SR 95@ ¥ AU M0 &l fddhed &l -l / @lal dfd

U9 9 We B | A fl UR & gReR / IRd TSy / < [/
ARG 3G B OMR STR UG WR YANT HIAT A1 7, FAT 4RIel
RO =T 8ITT |

In Section-A, there are 100 objective type questions, out of which
only 50 questions are to be answered. If more than 50 questions
are answered, then only first 50 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on the OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail
etc on OMR Answer Sheet, otherwise the result will be treated
invalid.

Yue—q H 30 oY SR U © | IS d oy 2 ofw FeiRa g, for
A Bl 15 Ul &1 IR <7 At B sHa faRed s @wre # 8
& ST g Ry MU €, ude @ forg 5 s feiRa €, foH @
=gl 4 oAl BT ITR <1 AR 7 |




In Section-B, there are 30 short answer type questions. Each
carrying 2 marks, out of which any 15 questions are to be
answered. Apart from these there are 8 Long answer type
questions, each carrying 5 marks, out of which any 4 questions are

to be answered.

8. P TR & Selaid ISR & JANT Yoiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Yug—3f / Section-A

gxdf~Iss 931/ Objective Type Questions

U T 1 9 100 db & AP U & A1 IR Aoy v v § 599 9 s
HE 7, U §RT g Y Wel fdwed & OMR—¥e R fafed & | f&=<i 50 wesi

BT SN < | (50x1=50)

Question Nos.- 1 to 100 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR-sheet. Answer any 50

questions. (50x1=50)
1. gl AHTISTIRA &l AMoTe ¥fde td amEifsie Afde o dfer 2|
(A) e argaT (B) 31T HIC
(C) TR (D) AoISaR Td U

Who divided sociology into social statics and social dynamics?
(A) Saint Simon (B) Auguste Comte

(C) Spencer (D) Maclver and Page



fSeR & fhd sl 7 aifoeel o fow wae d Miges Rem &1 ar™

9T 7 ?
(A) TreiTeT AR (B) St =i
(O EIGENIEEIEE (D) STy s

Which chief Minister of Bihar has made a law for Free education for
girls in graduation ?
(A) Nitish Kumar (B) Jitan Ram Manijhi

(C) Lalu Prasad Yadav (D) Jagannath Mishra

QRSS! THS JRID & ol@d B § °

(A) g (B) SitTer

(C) HPTER TI Ul () RCRIEEN
Who is the author of the book ‘Society’ ?

(A) Durkheim (B) Johnson
(C) Maclver and Page (D) Max Weber
IRAT TRV Hertell 3§ qul qadm $IF © ?

(A) &= (B) a1

(C) Rra (D) fawy

In Hindu mythology, who is the god of rain ?
(A) Indra (B) Pawan

(C) Shiv (D) Vishnu



b AR AfGAT DI Al RIBR A GG febar 1am ?

(A) gfremr el (B) e Hirera

(C) fopzor (D) #eR X4

Which Indian women was honoured by Nobel Prize ?

(A) Indira Gandhi (B) Lata Mangeshkar

(C) Kiran Bedi (D) Mother Teresa
AT Bl Bxe] e & s & oy & fba av urikd garm ?
(A) 1995 (B) 2006

(C) 1980 (D) 2005

In which year Protection of women from Domestic Violence bill was

enacted ?
(A) 1995 (B) 2006
(C) 1980 (D) 2005

b v ‘91 el S yQmRll’ WhIH Bl YA DI Mg off ?

(A) 2014 (B) 2015

(C) 2016 (D) 2017

In which year ‘Beti Bachao Beti Padhao’ scheme was started ?
(A) 2014 (B) 2015

(C) 2016 (D) 2017

[ AT & T8 FIdd UTH TSihdl bl 25,000 B BTG &1 Sl © 2

(A) BT ST JISTT G EFEESIEFREHE



(C) ST TSt (D) e AT

Under which scheme graduated pass girls are given a scholarship of

Rs. 25,000 ?
(A) Kanya utthan yojana (B) Beti Bachao Beti Padhao
(C) Janani Yojana (D) Sabla Yojana

AT AT & ded Udh Axb bl JTHI &5 § T AT § fbdd feai &

ISR &I TR &1 1l & 2

(A) 50 fasT (B) 75 fa=

(C) 100 fo=1 (D) 125 f=

Under the MGNREGA scheme, how many days of employment is
guaranteed to an adult in a rural area in a year ?

(A) 50 days (B) 75 days

(C) 100 days (D) 125 days

2011 SO & AR 9Rd H YoF Sl U 1 © ?

(A) 1000—935 (B) 1000—940

(C) 1000—950 (D) 1000—995

According to 2011 census, what is the male-female ratio in India ?
(A) 1000—935 (B) 1000—940

(C) 1000—950 (D) 1000—995



11.

12.

13.

=1 9 A B AT ST IO aRil Bl WRIGMR & oy Rk o &
fore rifad @ g 8 ?

(A) IR, (B) satsht

(C) Si. 3R, 4. (D) graaH

Which of the following scheme is implemented to Provide training to
the rural youths for their self-employment ?

(A) .LR.D.P. (B) DWCRA

(C)JRY. (D) TRYSEM

IR &I F9H FI St DI A1 g ?

(A) 4TeT (B) GeITe

(C) = (D) gosr

Which is the largest tribe of India ?

(A) Bhil (B) Santhal

(C) Naga (D) Munda

T (e vd faferss) ifSifeas 1986 @ d8d U 920 @ w9 § U 8
& forg srfrmeH omy @am 7 ?

(A) 10 a4 (B) 12 o

(C) 14 @ (D) 18 o

What is the maximum age for being eligible as a child under the child
labour (Prohibition and Regulation) Act 1986 ?

(A) 10 years (B) 12 years



14.

15.

16.

(C) 14 years (D) 18 years
qrasE (Mg va fAafame) 1| 1986 @ Seotdq & foTU _YATH BRI

P Iafer /T B ?
(A) 1 a9 (B) 2 a9
(C)s ad (D) 5 ¥

What is the minimum term of imprisonment for violation of child labour
(Prohibition and Regulation) Act, 1986 ?

(A) 1 year (B) 2 years

(C) 3 years (D) 5 years

et & & P e URAR B fged @ fog RieaR T8 R ?

(A) TrETenRoT (B) aieifiaor

(C) ufeerHranRoT (D) GpfcenT

Which of the following is not responsible for disintegration of Joint

family ?

(A) Urbanization (B) Industrialization

(C) Westernization (D) Sanskritization

S @raeen # Sfig |l &1 g1 IMAR | ... g7

(A) sfafdarer (B) aféferarel

(C) (A) 3R (B) T+t (D) (A) 3R (B) # & ®1g -T&

The choice of mates in the caste system is generally —

(A) Endogamous (B) Exogamous



17.

18.

19.

20.

(C) Both (A) and (B) (D) neither of (A) and (B)
=1 3§ ¥ P IR BT HROT T8 8 ?

(A) ITSTHIRT BT AURTENDHROT (B) faei=it Sfia=

(C) Bramarsir (D) smerfras

Which among the following is not a cause of corruption ?
(A) Criminalization of Politics (B) Luxurious life

(C) Black marketing (D) Laziness
= % | B 9T T BT R © 2

(A) TRIRS (B) A=
(QRIERIRED (D) Sudad Y
Which one of the following is the form of child abuse ?
(A) Physical (B) Sexual

(C) emotional (D) All of the above

HEUTH BT FIT STl & 7

(A) rarer H fasTaal (B) uRar &1 f¥rat
(C) @ rfuRom (D) S |+l
What is the treatment for alcoholism ?

(A) Detoxification in hospitals (B) Role of family
(C) Self motivation (D) All of the above

fore & 9 P gadg 98 8 ?

(A) TAIME . TSH BT HROT G977 ¢ |



21.

22.

23.

(B) TS TH. 3. 9. BT HROT 9T B |

(C) va. 3me. 4. 3iR UsH UH & 99T H Bl g |

(D) SwIa # & B 7 |

Which of the following statement is true ?

(A) HIV causes AIDS (B) AIDS causes HIV
(C) HIV and AIDS happens at the Same time

(D) None of the aobove

(AT B8, "G gITaRvr & AFa (AT W 77

(A) 3. 91 TR (B) 31 &. o™

(C) 3. oTR. a3+ (D) TH. <I. eYpIfdcH
Who said, “Culture is the man-made Part of environment ?
(A) E. B. Tylor (B) D. K. Davis

(C) C. R. Brown (D) M. J. Harskovits
falel FARTS @& Jeld e & faaR &1 dieT Sor g ?

(A) et (B) TeA Refer

(C) erTe Pire (D) gt

Who Pioneered the idea of Scientific study of sociology ?
(A) Plato (B) Adam Smith

(C) Auguste Comte (D) Durkheim

FATSIIRS &1 {5 Hifd BT U Hel ofdl & 72

(A) AT (B) wriT

10



24.

25.

26.

(C) Wit (D) sRan
Sociology is said to be the product of which revolution ?
(A) Chinese (B) Russian

(C) French (D) American

fhA= Pel, "I Uh AMISTe urofl 2 ?

(A) et (B) ¥

(C) veq A (D) 3R BT
Who said, “Man is a social animal” ?

(A) Plato (B) Aristotle

(C) Adam Smith (D) Auguste comte
Sfa & uRefa f&d ueR @ gReafd &1 te ISR & 2
(A) a1 (B) arfSta

(C) 9= (D) HrIfSTh
Caste status is an example of which type status ?

(A) Ascribed (B) Achieved

(C) General (D) Social

FHGTYS A9 & fhd W@wT W YhTel Slefdl & 7
(A) 5 (B) ISR
(QRBICEIRED (D) IR
Sociology thows light on the — nature of man.

(A) Animal (B) Social

11



27.

28.

29.

(C) Psychological (D) Motivational

quel faale fa & o gorm or ?

(A) sras (B) BremTTgR (7<)

(C) 3 yawr (D) aTTe

In which region did the Munda rebellion took place ?

(A) Assam (B) Chhota Nagpur region (Ranchi)
(C) Andhra Pradesh (D) Punjab

DY yer |qaTSl H fhaa! dea | GHfoid REF0l Bl WART fHar Sirdr o ?
(A) SIHPRER (B) gomd

(C) AP IR HAT (D) a1 T

In an agrarian society social controls were exercised with the help of

whom ?
(A) Feudal lords (B) Priests
(C) Fokways and mores (D) Folk Dance

gg T B Bl AUPR [P & & rgfad afa R gqfaa ST &
T # 59 enfaet fasar Smem 2
(A) Irzafcy (B) wae

(C) T &1 I5gUTe] (D) watea =Ty
Who has the right to decide that who will be included in the list of S.C.
and S.T.?

(A) President (B) Parliament

12



30.

31.

32.

(C) Governor of the state (D) Supreme Court

fba S 7 1991 H§ WRARN AIGRAT H A, & forv 27 wfrera syRefor

BT RABIRE BT ?
(A) SIS HUSe BT (B) 1. 41. Hisal BT
(C) faeliy g 4Rar wHc (D) ¥, TA. S9R BT

Which committee recommended the 27% reservation for the OBCs in
the government Jobs in 1991 ?

(A) Jogendra Nath Mandal Committee

(B) B. P. Mandal Committee

(C) Dilip Singh Bhuria Committee

(D) U. N. Debar Committee

2011 B STRIOET & ATAR AR H RFIT P FleRar X &1 8 2

(A) 65.5 Ufcrerd (B) 82.1 ufcrerd

(C) 74 yfaerd (D) 93.91 ufcrerd

What is the literacy rate of women in India according to 2011 census ?
(A) 65.5% (B) 82.1%

(C) 74% (D) 93.91%

fa=g URIfUTs @ § 9 & <adl $IF & ?

(A)s= (B) I=TIdl

(C)z= (D) sr&m

13



33.

34.

35.

In Hindu mythology, who is the god of death ?

(A) Indra (B) Saraswati
(C) Yama (D) Brahma

fheb gardl 9 fa=g fawrar gAfdare 1w, 1856 H @ gafm ?
(A) RTSIRTH HIg 14 (B) 3R =g fIeammR
(C) dfam T 418 (D) Rfy a1 el

With whose efforts the Hindu Widow Remarriage Act was implemented

in 1856 ?
(A) Raja Ram Mohan Roy (B) Ishwar Chandra Vidyasagar
(C) Pandita Ramabai (D) Jyoti Ba Phoole

fegR & e 420 o € ?

(A) a1 ey (B) fRora derd)

(C) w=ereR (D) Y. . @l

Who is the education minister of Bihar ?

(A) Ashok Chaudhary (B) Vijay Chaudhary

(C) Chandrashekhar (D) P. K. Shahi

fFrefoiag & 9 fow fdfrm o Bl § 9gfdars & IR erpEl =g
fpar?

(A) TRET TacC 1929 (B) fe=g_faare aifSfras 1955

(C) fog, STRIRT 1= 1956 (D) SIRAT ST 1937

14



36.

37.

Which of the following Act had declared Polygamy illegal among
Hindus ?

(A) Sharda Act 1929

(B) The Hindu marriage Act 1955

(C) The Hindu Succession Act 1956

(D) Shariat Bill 1937

IR D5 dAed! [T8R SUCTHIfSTT Uller H UM o § Il el & ar 39
fpa sEgid e 2 ?

(A) 10,000 %0 (B) 15,000 %0

(C) 20,000 0 (D) 25,000 %0

How much scholarship is given to a girl, if she gets first division in
Intermediate examination ?

(A) Rs. 10,000 (B) Rs. 15,000

(C) Rs. 20,000 (D) Rs. 25,000

Rral & 7% e Tfd RiE” &1 o A $Bl © 7

(A) 3R (B) Receh

(C) g (D) SITeiER

Where is the birth place of Sikh guru ‘Guru Govind Singh’ ?
(A) Amritsar (B) Delhi

(C) Patna (D) Jalandhar

15



38. fbar arfarfergm = Afgerall &1 aro fOdr & Uge |y iR Af¥eR fear ?

(A) fe=g STRITESR (F2e) S+ — 2005

(B) fa=g, STRIE®R A=A — 1956

(C) &g STRINSHR 19 — 1960
(D) fewg, S<RIEHR (Fee) sifefram — 2010
Which Act has given right to the women in their ancestral Property ?
(A) Hindu Succession (Amendment) Act, 2005
(B) Hindu Succession Act, 1956
(C) Hindu Succession Act, 1960
(D) Hindu Succession (Amendment) Act, 2010
30. ¥ 99 3red YA AT AR & T of ?
(A) 1915 (B) 1916
(C) 1917 (D) 1918
In which year Atal Pension Scheme was implemented ?
(A) 1915 (B) 1916
(C) 1917 (D) 1918
40. TRy P RIS R anifie Gl § R dfer ?
(A) eTgeR (B) At
(C) IR (D) sifiras
Who has divided culture into material and non-material culture ?

(A) Tylor (B) Malinowski

16



41.

42.

43.

(C) Crober (D) Ogburn

IR WemE Hef f&d o & fou 9 Ul R &4 94 &4 U (a8l Us

JRfAT & ?
(A) gou (B) #fee
(C) gar (D) o€ s

For which category of local self government institution, at least one

third of all Positions are reserved ?

(A) Man (B) Women

(C) Youth (D) Third Gender
arofl, gfg iR faen &1 < o9 8 ?

(A) TR (B) et

(C) ureicit (D) wrefl

Who is the goddess of Speech, wisdom and learning ?
(A) Saraswati (B) Laxmi

(C) Parwati (D) Kali

Sed g % B o ?

(A) T D (B) T o Riz

(C) % 31 (D) T% mfa g
Who was the tenth Sikh guru ?

(A) Guru Nanak (B) Guru Amar Singh

(C) Guru Arjun (D) Guru Govind Singh

17



44.

45.

46.

47.

=1 I P AR FHITES] T8 § 7

(A) 3 o (B) Sit. T g
(C) RT&T S J&ISil (D) s1fdd

Who of the following is not an Indian Sociologist ?
(A) Andre Beteille (B) G. S. Ghurye
(C) Radha Kamal Mukherjee (D) Darwin

= H A 3 9d &I gD B © 7

(A) T 9181 (B) @<, gl TUs Yrar
(C) SHIATHT Uve HIRFATATSI (D) ARG STdhe S

Which of the following book is written by Andre Betteill ?
(A) The city (B) Caste, Class and Power

(C) Economy and Sociology (D) Sociological Traditions

fIeR H FauH FHGRIRS &1 uels fha fdwafdenaa H g% gt ?

(A) faer faeafaerera (B) 9RTIQR fawafdemeta

(C) urcfergy fawafdemera (D) yeAT favafdere

In which university of Bihar, the Study of sociology was first started ?
(A) Bihar university (B) Bhagalpur university

(C) Patliputra university (D) Patna university

g8 & 59 i | afFy & SRy A4 g 7 ?

(A) df8 (B) ;R

(C) Sirer (D) 38

18



48.

49.

50.

From which part of Brahma is the Kshatriya believed to be originated ?
(A) Arms (B) Legs
(C) Thigh (D) Mouth

YRR AT H SRR BT Jod HRUT &7 8 2

(A) TR (B) AAIIT—HRR T BRSD
(C) uot=i wrfa ()EIRE

What is the main cause of overpopulation in Indian society ?
(A) Environment (B) Socio-cultural Factors

(C) Fecundity (D) Economy

1 # 9 3= amiore fEEe @ siiaRe dweE 8 ?

(A) eI (B) &1

(C) Srriferat (D) STTfeat

Which of the following is the formal means of social control ?
(A) Custom

(B) Law

(C) Folkways

(D) Mores

ARRITHROT B JqeRo fba < ?
(A) ar= Ris (B) Ta. T Aifar
(C) &g = (D) v, =0 3

Who gave the concept of sanskritization ?

19



51.

52.

53.

(A) Yogendra Singh (B) M. N. Srinivas

(C) Hetukar Jha (D) S. C. Dube

ATGSIS Siiad H IR Gl [ <9 ¥ Hafed & ?

(A) Af® ga= | (B) W& |

(C) Herar & (D) R &

Corruption Problem in Public life is related to which condition ?
(A) Moral degradation (B) Poverty

(C) Alcoholism (D) Unemployment
fhas P!, “aMIfote Gaul § 89 drel gRdcs & |aMIfsie gRddd ded

27

(A) HHTSR TG U (B) 3N i
(C) . vA. Si= (D) &. sfa<
Who said, “Change in Social relationship is social change” ?

(A) Maclver and Page (B) Auguste Comte

(C) H. M. Johnson (D) K. Davis

IRA H DI G99 BICT JATAEIH TIE & 7

(A) R (B) 4l

(C) i+ (D) zers
Which is the smallest minority group in India ?
(A) Muslim (B) Buddhist

(C) Jain (D) Christian

20



54, 99 § ¥ B9 YRAT FATS &1 fa9mdr g ?

(A) DT T TahdT (B) PRI §RT AHTSHHROT
(C) gouref (D) S99 & |+
Which among the following is the feature of Indian Society ?

(A) Unity in diversity (B) Socialization through Sanskar

(C) Purusharth (D) All the above

55. I U YoTIHeId URAR B WIYAT ] FHIS §RT A=gar ura fafer g 2
(A) 7ifa (B) &
(C) faars (D) G&pR
Which one is socially approved way of establishing a family of
Procreation ?
(A) Village (B) Religion

(C) Marriage (D) Sanskar

56. g fda® e AR B, fa et ?
(A) 5. T gRY (B) #HTEAR UG Ul
(C) 4. §. |RIfdA (D) 3IR. U 3
“Hindu marriage is a sacrament” who said ?
(A) G. S. Ghurye (B) Maclver and Page
(C) P. A. Sorokin (D) R. N. Sharma

57. Yol &I JJFURON 5 o | wHfd © ?

(A) feg (B) gfer

21



58.

59.

60.

(C) zurE (D) Rr

Concept of Rebirth is associated with which religion ?
(A) Hindu (B) Muslim

(C) Christian (D) Sikh

= § & B ST eaRen @1 Aiferd fagyar w8 § ?

(A) TG a4 (B) rfcrefrerar
(C) icRfaars! (D) GO

Which one of the following is not a fundamental feature of Caste

system ?
(A) Segmenta division (B) Mobility
(C) Endogamous (D) Hierarchy

o & @ I AHIioTe RGN BT IR 8] § 2

(A) FHfy (B) fRrerm

(C) wrawrg (D) ufcreug]

Which of the following is not the basis of social stratification ?
(A) Property (B) Education

(C) Occupation (D) Competition

AR ABIOT Bl J@gRey = § 4 fhaw afis w7 9 F=d © ?
(A) HeH T g (B) urifie |8
(C) f2a w8 (D) Fferrs A8

Concept of Sanskritizatin is closely related to which of the following ?

22



61.

62.

63.

(A) Reference Group (B) Primary Group
(C) Interest Group (D) Tertiary Group
BIel AR & ATAR a1 B Gl R el &

(A) wifam (B) ufreT

(C) ITUTEHT & ATEA (D) IUTEHAT & H=IE

According to Kar Marx Class membership depends upon —

(A) Power (B) Prestige

(C) Mode of Productivity (D) Productivity relations
ST WRIBROT B qaaRer fbd R SeRa € ?

(A) gFor (B) =rfavt

(C) aoTtsr (D) =

Caste Stratification system is based on which of the following ?

(A) Punar Janam (B) Chatur Varna

(C) Varnashram (D) Gotra

=1 3 | B IR & Wwy Bl USRT &Rl & 7 & Taxr & ?
(A) Tt (B) i

(C) SieR (D) W

Which one of the following represent a form of differentiation and not
stratification ?

(A) Class (B) Caste

(C) Gender (D) Sex

23



64.

65.

66.

67.

= # A 3 5T @ g R 98 2 ?
(A) T (B) ST

(C) SRR () RSRISERERI

Which one of the following is not the most important characteristic of

state ?
(A) Territory (B) Population
(C) Government (D) Political System

"Rl 3% PT84 SUSAT” TS JHId & o@D DI © ?
(A) T4, A1, Haas (B) vq. 1. gd

(C) Sil. vH. gRA (D) . UH. ufturax
Who is the author of the book “History of Caste in India” ?
(A) S. B. Ketkar (B) S. C. Dube

(C) G. S. Ghurye (D) K. M. Pannikar

HETHT Tt & SIS ATHT HT FH= R & {6 Jeer 9 8 ?

(A) 3T el (B) faErR

(C) #erTS (D) o

Mahatma Gandhi’s Dandi March is related with which state of India ?
(A) Andhra Pradesh (B) Bihar

(C) Maharashtra (D) Gujarat

=1 o @ PIT GIAT BT ISIENT 8] & ?

(A) TRIR (B) faare

24



68.

69.

70.

(GBI (D) fira Aveeh

Which among the following is not an example of institution ?
(A) Family (B) Marriage

(C) Kinship (D) Peer group

o ERRAT B Y3 Hd g 7

(A) Ifcd @o1e (B) g¥w@r g

(C) gd afdsws &1 (D) wedTel

When did Varna system start ?

(A) Vedic Period (B) Harappan Period

(C) Pre-Vedic Period (D) Medieval Period

TN

AT TARROT BT ITIROT fhTp ST TARIPNIT Bl FafHd HRdl & °

(A) FraT iR foar (B) form
(C) thiear (D) Toritar wigg

The concept of Gender stratification refers to stratification between

(A) Mother and Father (B) Sexes

(C) Generation (D) Ethnic group
=1 H | D9 gar[s T8 € ?

(A) gagian (B) farferamsr

(C) gt (D) sfe

Which of the following is not a youth organization ?

(A) Dhumkuriya (B) Gitiora
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71.

72.

73.

(C) Gotul (D) Bhotia
=1 # & sl |amiioTe aRa<= & aftha Rigea &1 9+9ei= fdar g ?
(A) BRI BEEES

(C) aer=a (D) wicH

Who among the following has supported the cyclical theory of social

change ?
(A) Sorokin (B) Hobhouse
(C) Parsons (D) Merton

= % 9 o Aften & S & o ReR =8 © ?
(A) T AHRd (B) @l ga|

(C) 3T XM Al ™ (D) ¥R T= fTemrR
Who among the following is not responsible for upliftment of women ?
(A) Swami Namdeo (B) Swami Dayananda

(C) Raja Ram Mohan Roy (D) Ishwar Chandra Vidyasagar
=T 3 F SIgfed il & ford ugad sifveafad 781 § 2

(A) TEATGIT I (B) aret STferat

(C) sra (D) srfaRRe sferf

Which of the following is not an expression used for schedules castes?
(A) Depressed class (B) Exterior castes

(C) Untochables (D) Interior castes
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74.

75.

76.

dls T 3R oy faer gl # fba ufaerg die srggfed sfadl & forg
Rfard g ?

(A) 7.5% (B) 14%

(C) 15% (D) 20%

About how may percentage of total seats in Lok Sabha and state
vidhan sabhas has been reserved for the scheduled castes ?

(A) 7.5% (B) 14%

(C) 15% (D) 20%

fbd orfess & AR B8R, HLg U 3R QST H TG Hedlv]

AT DT UTaeT— & 2

(A) 3rgese — 64 (B) 3/ =0T — 164

(C) ¥rged — 28 (D) 5 ¥ FE T

According to which Article, there is a Provision for tribal Welfare
Ministry in Bihar, Madhya Pradesh and Odisha ?

(A) Article — 64 (B) Article — 164

(C) Article — 28 (D) None of these

= J 31 B B PRk RigT< 31 R wR § 7

(A) arfcad (B) ucaerars

(C) e (D) == fasra

Which of the following is the third stage of comte’s law of three stages?

(A) Metaphysical (B) Scientific
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77.

78.

79.

(C) Theological (D) Epistemology
=1 I P ARG FHIGTES] T8 7 7

(A) 3= o (B) 79 ¥I. g9

(C) 3. &. et (D) &=

Which of the following is not an Indian sociologist ?
(A) Andre Beteille (B) S. C. Dube
(C) R. K. Mukherjee (D) Merton

Teaqdma) 3ifh SPSAT ddh & o@d DI § ?

(A) wier (B) aveg

(C) Heq deR (D) Ufsd 8%
Who is the author of the book “Discovery of India” ?
(A) Plato (B) Aristotle

(C) Max Weber (D) Pandit Nehru

1Sl fhd Acas &1 Udle & 2

(A) 919 Heer (B) HH™IISTeh He
(OFsiciaag (D) SicR weifore
Society symbolises the network of :

(A) Human relationship (B) Social relationship
(C) Orientations (D) Inter-Connections

g Ud g8q URART & IMER WR fhsl= aMifore aRexia ®f faeefia fear?
(A) Ta. T, Aiffar (B) Js sfthes
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81.

82.

83.

(C) ww. 1. g3 (D) egehx =

Who analysed social change on the basis of little and great traditions ?

(A) M. N. Srinivas (B) Robert Redfield

(C) S. C. Dube (D) Hetukar Jha

fa=foRad 5 9 fba um I<iaa & U= 9Rd § Rl &1 s9er Rerfa

qarft g 7
(A) 3T TS (B) w1 TS
(C) 551 |HTS (D) S |+l

Who among the following in his movement has narrated excellent

Position of women in ancient India ?
(A) Arya Samaj (B) Prarthna Samaj

(C) Brahma Samaj (D) All of the above

3T BT & ITAR FHTGIRIS HAIH AoaP o

(A) AFIRIH (B) AMIISTh AT
(C) Sfta fa=i (D) Wiy o

According to Auguste Comte sociology is very close to :

(A) Anthropology (B) Social Anthropology
(C) Biology (D) Physics

HIARA I & AHI Wi & TSl bi o ?

(A) g9 XVI (B) q= XIV

(C) veas (D) R
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84.

85.

86.

Who was the King of France at the time of French Revolution ?
(A) Louis XVI (B) Louis XIV

(C) Edward (D) Czar

fhral~l FHTGIRITES & AT TR BT qed fhar g ?
(A) TS DiFe (B) g1zl g

(C) WRer (D) ®RR

Who has headed the synthetic school of sociology ?
(A) Auguste Comte (B) Emile Durkheim

(C) Pareto (D) Spencer

hie & fAs= & IR & Rigd § $IF I Ugol 37dl & ?
(A) Sia Rsm (B) TIfor

(C) SroTene= (D) #iifrast e

Which of the following comes first in the Comte’s hierarchy of

Sciences?
(A) Biology (B) Mathematics
(C) Sociology (D) Physics

SIS Yol &1 Hord faeivdr fods fafra o= amarRa & 2
(A) yorg (B) A
(C) a%g Ud &t (D) =1

The fundamental feature of Jajmani system is based on the exchange

of :
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87.

88.

89.

(A) Documents (B) Land

(C) Goods and Services (D) Money

AT ST oI &1 IART & USI gRedIoT &l WRd fhar § 2
(A) At (B) Retet

(C) TemIes (D) \fzaere

Who has given racial interpretation of origin of caste system?
(A) Morgan (B) Risley

(C) Nesfield (D) Sachchidanand

= % 9 forg 7o &1 uRomH T8 w'T 1 Adhar ?

(A) WReT BT yad (B) MURTI # FHHI

(C) =feqs uT (D) wiRaR® faeres

Which among the following cannot be said the effect of Alcoholism ?
(A) Decline of health (B) Decrease in crime

(C) Personal disorganization (D) Family disorganization

ST T DI ARBR A FaueH B9 99 #gr g &1 Nfa wRd H Ay fear?
(A) 1977 (B) 1978

(C) 1979 (D) 1980

In which year Janta Dal government implemented Prohibition of
Alcoholism in India ?

(A) 1977 (B) 1978

(C) 1979 (D) 1980
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90.

91.

92.

IR IRISRIRT w1 &I fha av & garm ?

(A) 2018 (B) 2019

(C) 2020 (D) 2017

In which year Bihar Berojgari Bhatta Law was introduced ?
(A) 2018 (B) 2019

(C) 2020 (D) 2017

AR & Si9dh IR die fd 3 & gy o ?
(A) ST (B) wr
(C) Siar (D) 3rRepT

The Father of Sociology Auguste Comte, was a resident of which

country ?
(A) Germany (B) France
(C) Japan (D) America

YRAT TS IR SUFIIErE & o 997d ST 147 ?

(A) TSI T (B) Gohard) sreferaren &1 fawrd
(C) 1dH T BT IS (D) 378 & =+

Which type of impact of colonialism is seen on Indian Society ?
(A) National unity

(B) Development of Capitalistic economy

(C) Emergence of new classes

(D) All of these
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93.

94.

95.

96.

YR AR @ 79 § | di—d1 faRivar g 2

(A) g9 &1 gerar (B) vt H fazara

(C) 3T Td AT # faeard (D) 377% & @

Which among the following is the characteristic of Indian culture ?
(A) Importance of religion (B) Belief in Karmphal

(C) Belief in Soul and rebirth (D) All of these

fe=g fdare @ 9 Wwy # e Sl 9 Ud T I 41T S Sl & 7

(A) &7 faare (B) sr&t farare

(C) 3y faare (D) wsTiuey faars

In which form of Hindu marriage, a Pair of Ox and Cow is demanded ?
(A) Daiva Vivah (B) Brahma Vivah

(C) Arsha Vivah (D) Prajapatya Vivah

S GaART DI T HEI ST & Sl W@ordl b RER Faehi Bl Fafdd ol
87

(A) e (B) STorT=

(C) Srler (D) HeTerarsy

The system which regulates the mutual ralations of kins is called :

(A) Kinship (B) Jajmani

(C) Zamindari (D) Mahalbari

AR ATERT @ fd 2oft # afrar & ?

(A) wrIfires (B) fa<ia®
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97.

98.

99.

(C) gha® (D) &7 & BIg el
‘Mausi’ comes under which category of Kinship ?

(A) Primary (B) Secondary
(C) Tertiary (D) None of these
Ure AR TS fdbae qort # faarfore o ?

(A) @ (B) @R

(C) dr= (D) a1

Ancient Indian Society was divided into how many Varnas ?

(A) Three (B) Four

(C) Five (D) Two

FHISIARS BT &4 b 91 H gafm ?
(A) §cfs (B) s
(C) ar=d (D) Wi

In which country was Sociology born ?

(A) England (B) America
(C) India (D) France
g e F A B A7 fare sRemd g @ 7
(A) FreTs (B) wifis

(C) gare (D) gord

Which marriage among muslims is temporary in nature ?

(A) Nikah (B) Phasid
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(C) Mutah (D) Mubarat
100. SYLIAT R A fha au uiRke garm ?

(A) 1955 (B) 1976
(C) 1988 (D) 1995
In which year was “Untouchability offence Act” Passed ?
(A) 1955 (B) 1976
(C) 1988 (D) 1995

Yus—9q / Section-B

oY S8 999 (Short Answer Type Questions)

U AT 1 9§ 30 Y SN 2| Rl 15 Ul & SR | IS U B folg 2
siw PRy 2| (15x2=30)

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1. UST 3PN w2 ?

What is reproductive right ?

2. qIfeTepTatl | BIFdTel SHRAT & QI @<yl &I o P |

Discuss two forms of Cruelty against girl child.
3. aifer fuwsT avf T 8 ?

What is extremely backward community ?

4. IS I g &l gIa < |
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10.

11.

12.

13.

14,

Suggest any two measures for eradication of child labour.

TRl BT QT ARyl o1 goid & |

Describe two features of Westernization.

FHGIIA & fAdbr § R & &l Y Hifadl & T ford |
Name two important revolution who helped in the development of
Sociology.

it & Wk & fore ¥od @ik Rrer ¥ aaRerd ¥ ?

In which state and district of India is coorg situated in ?
|rere Wifear o1 fqenfefal wr gFdret &1 g+l BT quie & |
Describe any two impact of Social media on students.
SR & fh=8l &1 ARSI Bl gouie o |

Describe any two problems of tribes.

ARG A MY Fa7 A 8 2

What do you mean by communalism ?

qTfTmIsN BT fIemerd 2= & fhl 31 RN BT Ieoid PN |

Explain any two reasons for the School drop out among the girls.
JAIIfrdfdre 2ex w7 g ?

What is Colonial city ?

SIf Sgaer & QNl &l fqdemT & |

Descuss the demerits of Caste system.

TRAT FATS § g8 M9 & &l A8 &I fada=T o |
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

Discuss two importance of Brahmacharya Ashram in Indian

Society.
feerR ¥ 7af vy & HRIHH BT IR BN |

Highlight the Prohibition (liquor) Programme in Bihar.
IRER ATAER) e Bl e BN |

Explain avoidance Kinship relation.

fepTe Td JdTe H 3R W I |

Distinguish between Nikah & Mutah.

TGO | MY FIT FqAS & ?

What do you mean by urbanization ?

o7 Ud 99 9 iR W o |

Explain the difference between gender and sex.
T, 3. . | AT R FHIA § ?

What do you mean by HIV ?

YR G 4§ gouref & #gcd &I fader & |

Discuss the importance of Purusharth in Indian Society.
g7 faare | Y 7 FHs § 2

What do you mean by marriage by caputure ?

TRRC I 3T 7 F9s7d & 7

What do you mean by Sororate ?

SooTdelT TSl &7 § ?
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25.

26.

27.

28.

29.

30.

What is Ujjawala Scheme ?

UIpI B T & 2

What is POSCO law ?

STHAR & ST HEed DT qu D |

Describe two importance of Media.

R AT D B [l & AR BT qu D |
Describe any two Problems of Muslim minorities.

TSR THIHROT BT af fIereamRl &1 9uid o |

Describe two features of national integration.

YR G ¥ T[8] 38| & al "eed &I fade o |

Explain two importance of Grihastha Ashram in Indian Society.

U Afdd b FHTSIHNT H hRI & Hgcd bl IRAT P |

Explain the importance of Sanskaras in the socialization of an

individual.

e 989 937 (Long Answer Type Questions)

o AT 31 9 38 41 ST Y B | fhsl 4 UTHl b SR ¢ | YD b foIU 5

s feffRa & - (4x5=20)

Question nos. 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. (4x5=20)

31.

TRAT FaTS I faerearsit &7 fad=am &3 |

38



32.

33.

34.

35.

36.

37.

38.

Discuss the features of Indian Society.

SHSITAR TSt | Siia el U & & a_il dl fIaaeT o |
Discuss the way of acquiring mates in tribal communities.

qRer fiare & AT TeRi BT avt ¥ |

Describe the different types of muslim marriage ?

AREIRISHAT IR Udh FHEGETER ey o |

Write a sociological essay on communalism.

3fes qeMRll H GER AEABIBROT B UfhaT Dl DY YT HRIT?
How will the improvement in economic condition affect the process

of modernization ?

AERITHIOT BT AT AT WR US+IaTel IR Y9Tal BT qouie o |

Describe four impacts of sankritization on caste system.
IR 7 b YR ARG AfZerail bl Ferad fhar g ?

How has globalization empowered Indian women ?

ATIERY & AHEINTG 78 dF faded T & |

Discuss the social significance of Kinship.

39



